
 

QUESTION BANK 

GRADE 2 – MATHS 

CHAPTER 3 – SUBTRACTION 

1. Subtract. 

a.    9                         b.   8  8                      c.   5  8                        d.  3  3 

    -  2                           -      7                         -  4  5                          -  3  3 

 

 

e.   4  6                      f.    3                         g.    4   3                       h.   6   5 

    -     6                         -  0                            -  1   5                          -  3   8 

 

2. Fill in the blanks. 

a. 6 tens and 3 ones = 5 tens and ____ ones 

b. 5 tens = 4 tens and ____ ones 

c. 3 tens and 7 ones = ____ tens and 17 ones  

 

3. Solve the story sums. 

a. Rachael has 49 hens and she gives 12 hens to her sister. How many hens 

does she have now? 

b. 63 birds are sitting on a tree. 11 birds fly away. How many birds are on the 

tree now? 

c. There are 15 dogs in a pet shop. 9 of them were sold away. How many dogs 

are still there in the shop? 

d. There were 81 trees in a park. 43 were cut down. How many trees were 

remaining? 

 

4. Regroup.     

a.   T   O                          T    O 

      2    4                                14 

 

b.   T   O                          T    O 

      7    1                           6 

 

5. Subtract. Then check the answer using addition. 

a.   3    7                                     b.   8    1 

   -       4                                         -  2    5 


